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Cluster: 0112 ptr; resid: 0.35; r/c: 28/73

x.range

upstream meme PSSM #1; e=180

1 6 11 16 211 6 11 16 211 6 11 16 211 6 11 16 211 6 11 16

x.range

y.
ra

ng
e

upstream meme PSSM #2; e=1.3e+03

1 6 11 16 211 6 11 16 211 6 11 16 211 6 11 16 211 6
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19669

49632

16401

32087

37181

37509

37918

40068
40147

40338

40594

43891

43892

44294

45025

47876

47902

48036

48112

48337

49211

49445

49574

49665

49729

50366

50516

7736

string −500 −400 −300 −200 −100 −1
49211−0.00
19669−0.03
48337−0.04
45025−0.06
49632−0.07
49445−0.08
43892−0.13
37509−0.13
49729−0.14
40147−0.21
49665−0.22
37918−0.28
40338−0.32
37181−0.34
47876−0.35
43891−0.36
47902−0.36
16401−0.42
32087−0.43
40068−0.57
44294−0.65
50516−0.82
50366−1.09
48112−4.44
49574−6.83

7736−7.03
40594−18.04
48036−18.04

log10(P) upstream meme1 2 log10(P.clust)=−2.20; 28 seqs; 28 uniq
c(0.5, 2.5)
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